


















Find the option which should replace (?)

6 , 9 , 18 , 45 , 135 , ? 

(A) 470

(B) 472.5

(C) 480
(D) 450



Find the missing :-

(A)32
(B)34
(C) 44
(D)28
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16 ? 30

20 29 21

10 26 24

12 20 16



Find the option which should replace (?)

(A) 65
(B) 55
(C) 57
(D) 72

4 6 8

6 9 11

20 45 ?



Which number will replace the question mark ?

(A) 60 (B) 48

(C) 64 (D) 62

12 10 14

9 11 10

54 52 ?
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Q. A man is facing east. He turns 45 degree in the clockwise direction and then another 180 

degree in the same direction and then 270 degree in the anticlockwise direction. Find which 

direction he is facing now ?

एकआदमी पूर्व का मुख ककये है। र्ह दकिणार्र्व कदशा में 45 किग्रीऔर किर उसी कदशा में 180 किग्रीऔर किर

र्ामार्र्व कदशा में 270 किग्री बदल जार्ा है। अब र्ह ककस कदशा में देख रहा है?
(1) South-West

(2) South

(3) West

(4) South-East

(5) None of these

Question -7



Q. One morning Udai and Vishal were talking to each other face to face at a crossing. If 

Vishal's shadow was exactly to the left of him, which direction was Udai facing ?

एक सुबह उदय और कर्शाल एक चौराहे पर आमने-सामने बार् कर रहे थे। यकद कर्शाल की परछाई उसके

ठीक बायी ींओर थी, र्ो उदय का मुख ककस कदशा में था?

(1) East                             

(2) West

(3) North                           

(4) South

(5) None of these 

Question -9



Q. Shubham travels 8 km. towards North, then he turns to his right and walks 4 km. He again 

turns to his right and moves 5 km forward. Now in which direction is he from his starting 

point ?

शुभम 8 ककमी की यात्रा उत्तर कीओरकरर्ा है किर र्ह अपने दाकहने मुड़र्ा हैऔर 4 ककमी चलर्ा है। र्ह किर से
अपने दाकहनेओर मुड़र्ा हैऔर 5 ककमीआगे बढ़र्ा है। अब र्ह प्रारीं कभक कबींदु से ककस कदशा में है?
(1) North

(2) South

(3) East                                                  

(4) West

(5) None of these

Question -1


